First Names Holidays Ice Cream
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1. The person who enjoys chocolate ice cream isn't planning ahead for Easter or Memorial Day.

2. The person who enjoys neapolitan ice cream is not Kyler.

3. Either the employee with the $71,000 salary or the employee with the $112,000 salary is making plans for All Saints

Day.

4. The person who's making plans for Bastille Day is Maximus.

5. Of Kyler and the person who enjoys butter pecan ice cream, one earns $62,000 per year and the other earns $71,000

per year.

6. The person who's making plans for Bastille Day earns more than Mason.

7. The person who enjoys butter pecan ice cream is making plans for All Saints Day.

8. The person who's making plans for Easter earns more than Sophie.
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